

Research Article **On Third-Order Linear Recurrent Functions**

Kodjo Essonana Magnani 🗈

Département de Mathématiques, Université de Lomé, BP 1515 Lomé, Togo

Correspondence should be addressed to Kodjo Essonana Magnani; kodjo.essonana.magnani@usherbrooke.ca

Received 12 October 2018; Revised 13 January 2019; Accepted 12 March 2019; Published 26 March 2019

Academic Editor: Seenith Sivasundaram

Copyright © 2019 Kodjo Essonana Magnani. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

A function $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ is said to be a Tribonacci function with period *p* if $\psi(x + 3p) = \psi(x + 2p) + \psi(x + p) + \psi(x)$, for all $x \in \mathbb{R}$. In this paper, we present some properties on the Tribonacci functions with period *p*. We show that if ψ is a Tribonacci function with period *p*, then $\lim_{x \to \infty} (\psi(x + p)/\psi(x)) = \beta$, where β is the root of the equation $x^3 - x^2 - x - 1 = 0$ such that $1 < \beta < 2$.

1. Introduction

The most popular numbers studied in many different forms for centuries are Fibonacci numbers. Fibonacci sequence is famous for their amazing properties (see [1-5]). Many research articles talk about these numbers. The third-order linear recurrence of these sequences are what we call Tri*bonacci* sequences $\{T_n\}$ by the recurrence relation T_{n+2} = $T_{n+1} + T_n + T_{n-1}$ with $T_0 = a, T_1 = b, T_2 = c, a, b, c \in \mathbb{N}$ and n as an integer. Han, Kim, and Neggers studied Fibonacci numbers [6-8] and introduced the concept of Fibonacci functions with Fibonacci numbers in [8] which were later extended by B. Sroysang [9] to Fibonacci functions with period *p*. In the same order as in [8], Parizi and Gordji [10] studied Tribonacci functions. They gave some properties of Tribonacci functions: a function $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ is said to be a Tribonacci function if $\psi(x+3) = \psi(x+2) + \psi(x+1) + \psi(x)$, for all $x \in \mathbb{R}$. They also showed that if ψ is a Tribonacci function, then $\lim_{x \to \infty} (\psi(x+1)/\psi(x)) = \beta = (1/3)[(19 + 3\sqrt{33})^{1/3} +$ $(19 - 3\sqrt{33})^{1/3} + 1$ which is a root of $x^3 - x^2 - x - 1 =$ 0.

In this paper, for any positive integer p, a function ψ : $\mathbb{R} \longrightarrow \mathbb{R}$ is said to be a Tribonacci function with period p if $\psi(x + 3p) = \psi(x + 2p) + \psi(x + p) + \psi(x)$, for all $x \in \mathbb{R}$. In Sections 2 and 3, we present some properties of these functions. In Section 4, we develop the notions of these functions using the concept of even and odd functions discussed in [8, 10]. We also show that if ψ is a Tribonacci function with period p, then $\lim_{x \to \infty} (\psi(x + p)/\psi(x)) = \beta$.

2. Tribonacci Functions with Period p

In this section, we present some properties of Tribonacci functions with period *p*.

Definition 1. Let *p* be a positive integer. A function $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ is said to be a Tribonacci function with period *p* if $\psi(x + 3p) = \psi(x + 2p) + \psi(x + p) + \psi(x)$, for all $x \in \mathbb{R}$.

Example 2. Let β be a positive root of the equation $x^3 - x^2 - x - 1 = 0$. Then, $\beta^3 = \beta^2 + \beta + 1$. Define a map $\varphi : \mathbb{R} \longrightarrow \mathbb{R}$ by $\varphi(x) = \beta^{x/p}$, where $p \in \mathbb{N}$. Then, φ is a Tribonacci function with period p.

Proposition 3. Let $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ be a Tribonacci function with period $p \in \mathbb{N}$ and define $h_t(x) = \psi(x+t)$, for all $x \in \mathbb{R}$, where $t \in \mathbb{R}$. Then, h_t is also a Tribonacci function with period p.

Proof. Let $x \in \mathbb{R}$. Then,

$$h_{t} (x + 3p) = \psi (x + 3p + t) = \psi (x + t + 3p)$$

= $\psi (x + t + 2p) + \psi (x + t + p)$
+ $\psi (x + t)$
= $\psi (x + 2p + t) + \psi (x + p + t)$
+ $\psi (x + t)$
= $h_{t} (x + 2p) + h_{t} (x + p) + h_{t} (x)$.

Theorem 4. Let ψ : $\mathbb{R} \longrightarrow \mathbb{R}$ be a Tribonacci function with period p and let $\{T_n\}$, $\{T'_n\}$, and $\{T''_n\}$ be the sequences of Tribonacci numbers with $T_1 = 1$, $T_2 = 2$, $T_3 = 3$, $T_{n+3} =$ $T_{n+2}+T_{n+1}+T_n$ and $T'_1 = 0$, $T'_2 = T'_3 = 1$, $T'_{n+3} = T'_{n+2}+T'_{n+1}+T'_n$ and $T''_1 = T''_2 = 0$ $T''_3 = 1$, $T''_{n+3} = T''_{n+2} + T''_{n+1} + T''_n$. Then, $\psi(x + np) = T'_n \psi(x + 2p) + T_{n-2} \psi(x + p) + T''_n \psi(x)$ for any $x \in \mathbb{R}$ and $n \ge 3$ an integer.

Proof. $\psi(x+3p) = \psi(x+2p) + \psi(x+p) + \psi(x)$. The assertion holds for n = 3.

So, fix $n \in \mathbb{N}$ and assume that the assertion is valid for every $s \in \{3, ..., n+2\}$. Then,

$$\begin{split} \psi \left(x + (n+3) p \right) &= \psi \left((x+np) + 2p \right) \\ &+ \psi \left((x+np) + p \right) + \psi \left(x+np \right). \\ &= \psi \left((x+(n+2) p \right) \\ &+ \psi \left((x+(n+1) p \right) \\ &+ \psi \left(x+np \right). \\ &= T'_{n+2} \psi \left(x+2p \right) + T_n \psi \left(x+p \right) \\ &+ T''_{n+2} \psi \left(x \right) + T'_{n+1} \psi \left(x \right) \\ &+ T'_n \psi \left(x+2p \right) + T_{n-2} \psi \left(x+p \right) \\ &+ T''_n \psi \left(x \right). \end{split}$$
(2)
$$&+ T''_n \psi \left(x \right). \\ \psi \left(x + (n+3) p \right) &= \left(T'_{n+2} + T'_{n+1} + T'_n \right) \psi \left(x+2p \right) \\ &+ \left(T''_{n+2} + T''_{n+1} + T''_n \right) \psi \left(x \right) \\ &= T'_{n+3} \psi \left(x+2p \right) + T_{n+1} \psi \left(x+p \right) \\ &+ T''_{n+3} \psi \left(x \right). \\ \Box \end{split}$$

Corollary 5. Let $\{T_n\}$, $\{T'_n\}$, and $\{T''_n\}$ be the sequences of Tribonacci numbers with $T_1 = 1, T_2 = 2, T_3 = 3, T_{n+3} = T_{n+2}+T_{n+1}+T_n$ and $T'_1 = 0, T'_2 = T'_3 = 1, T'_{n+3} = T'_{n+2}+T'_{n+1}+T'_n$ and $T''_1 = T''_2 = 0$ $T''_3 = 1,$ $T''_{n+3} = T''_{n+2} + T''_{n+1} + T''_n$. Let β be the root of the equation $x^3 - x^2 - x - 1 = 0$ such that $1 < \beta < 2$. Then, $\beta^n = T'_n \beta^2 + T_{n-2}\beta + T''_n$.

Proof. Let $\psi(x) = \beta^{x/p}$. We have seen in Example 2 that $\psi(x) = \beta^{x/p}$ is a Tribonacci function with period *p*. Applying Theorem 4, we have $\beta^{x/p+n} = T'_n \beta^{x/p+2} + T_{n-2} \beta^{x/p+1} + T''_n \beta^{x/p}$, for all $x \in \mathbb{R}$. We obtain $\beta^n = T'_n \beta^2 + T_{n-2} \beta + T''_n$.

Remark 6. Consider the Tribonacci sequenses $\{T_n\}, \{T'_n\}$, and $\{T''_n\}$ as in Theorem 4. We have the relations $T_n = T'_n + T'_{n+1}$ and $T''_n = T'_{n-1}$.

3. Odd Tribonacci Functions with Period p

Here we discuss odd Tribonacci functions with period p defined as follows.

Definition 7. Let *p* be a positive integer. A function $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ is said to be an odd Tribonacci function with period *p* if $\psi(x + 3p) = -\psi(x + 2p) - \psi(x + p) + \psi(x)$, for all $x \in \mathbb{R}$.

Example 8. Let $\psi(x) = \alpha^{x/p}$ be an odd Tribonacci function with period $p \in \mathbb{N}$, $\alpha > 0$. It is clear that $\alpha^{x/p+3} = -\alpha^{x/p+2} - \alpha^{x/p+1} + \alpha^{x/p}$, for all $x \in \mathbb{R}$. We have $\alpha^3 = -\alpha^2 - \alpha + 1$. Then, $\alpha = \beta_1$ such that β_1 is root of the equation $x^3 + x^2 + x - 1 = 0$, $0 < \beta_1 < 1$. Thus, $\psi(x) = \beta_1^{x/p}$ is an odd Tribonacci function with period p on \mathbb{R} .

Proposition 9. Let ψ : $\mathbb{R} \longrightarrow \mathbb{R}$ be an odd Tribonacci function with period $p \in \mathbb{N}$ and define $h_t(x) = \psi(x + t)$, for all $x \in \mathbb{R}$, where $t \in \mathbb{R}$. Then, h_t is also an odd Tribonacci function with period p.

Proof. Let $x \in \mathbb{R}$. Then,

$$h_{t}(x+3p) = \psi(x+3p+t) = \psi(x+t+3p)$$

= $-\psi(x+t+2p) - \psi(x+t+p)$
+ $\psi(x+t)$
= $-\psi(x+2p+t) - \psi(x+p+t)$
+ $\psi(x+t)$
= $-h_{t}(x+2p) - h_{t}(x+p) + h_{t}(x)$. (3)

Theorem 10. Let $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ be an odd Tribonacci function with period p and let $\{T_{-n}\}, \{T'_{-n}\}, and \{T''_{-n}\}$ be the sequences of Tribonacci numbers with $T_0 = 0, T_1 = 1, T_2 = 2, T_{-n-1} = -T_{-n} - T_{-n+1} + T_{-n+2}$ and $T'_0 = T'_1 = 0, T'_2 = 1, T'_{-n-1} = -T'_{-n} - T'_{-n+1} + T'_{-n+2}$ and $T''_0 = 1, T''_1 = T''_2 = 0, T''_{-n-1} = -T''_{-n} - T''_{-n+1} + T''_{-n+2}$. Then, $\psi(x + np) = T'_{-n+1}\psi(x + 2p) + T_{-n}\psi(x + p) + T''_{-n+3}\psi(x)$ for any $x \in \mathbb{R}$.

Proof. $\psi(x+3p) = -\psi(x+2p) - \psi(x+p) + \psi(x)$. The assertion holds for n = 3.

So, fix $n \in \mathbb{N}$ and assume that the assertion is valid for every $s \in \{3, ..., n+2\}$. Then,

$$\psi(x + (n + 3) p)$$

= $\psi((x + np) + 2p) + \psi((x + np) + p)$
+ $\psi(x + np)$.
= $\psi((x + (n + 2) p) + \psi((x + (n + 1) p))$
+ $\psi(x + np)$.

$$= T'_{-n-1}\psi(x+2p) + T_{-n-2}\psi(x+p) + T''_{-n+1}\psi(x) + T'_{-n}\psi(x+2p) + T_{-n-1}\psi(x+p) + T''_{-n+2}\psi(x) + + T'_{-n+1}\psi(x+2p) + T_{-n}\psi(x+p) + T''_{-n+3}\psi(x). \psi(x+(n+3)p) = (-T'_{-n-1} - T'_{-n} + T'_{-n+1})\psi(x+2p) + (-T_{-n-2} - T_{-n-1} + T_{-n})\psi(x+p) + + (-T''_{-n+1} - T''_{-n+2} + T''_{-n+3})\psi(x) = T'_{-(n+3)+1}\psi(x+2p) + T_{-(n+3)}\psi(x+p) + T''_{-(n+3)+3}\psi(x).$$
(4)

4. Even and Odd Functions with Period p

In this section, we will talk about the notion of Tribonacci functions using even and odd functions. Here we get results obtained in [10] with third-order linear recurrence. We give the limit of the quotient of a Tribonacci function with period p, extending the results of [11] in third-order linear recurrence.

Definition 11. Let *p* be a positive integer and $\lambda : \mathbb{R} \longrightarrow \mathbb{R}$ a function such that the preimage of 0 by λ has the empty interior. The function λ is said to be an even (resp., odd) function with period *p* if $\lambda(x + p) = \lambda(x)$ (resp., $\lambda(x + p) = -\lambda(x)$), for all $x \in \mathbb{R}$.

Example 12. If $\lambda(x) = x - \lfloor x \rfloor$, then $\lambda(x)h(x) \equiv 0$ implies that $h(x) \equiv 0$ if $x \notin \mathbb{Z}$. Due to the fact that $\mathbb{R} \setminus \mathbb{Z}$ is dense in \mathbb{R} and *h* is continuous, it follows that h = 0. Let $p \in \mathbb{N}$ and $x \in \mathbb{R}$. Then, $\lambda(x + p) = x + p - \lfloor x + p \rfloor = x + p - \lfloor x \rfloor - p = x - \lfloor x \rfloor = \lambda(x)$. Hence, λ is an even function with period *p*.

Theorem 13. Let $p \in \mathbb{N}$ and $\lambda : \mathbb{R} \longrightarrow \mathbb{R}$ be an even function with period p and let $v : \mathbb{R} \longrightarrow \mathbb{R}$ be a continuous function. Then, v is a (resp., an odd) Tribonacci function with period p if and only if λv is a (resp., an odd) Tribonacci function with period p.

Proof. Let *v* be a Tribonacci function with period *p*. For any $x \in \mathbb{R}$, we have

$$(\lambda v) (x + 3p) = \lambda (x + 3p) v (x + 3p)$$
$$= \lambda (x + 2p) v (x + 3p)$$
$$= \lambda (x + 2p) [v (x + 2p) + v (x + p) + v (x)]$$
$$= \lambda (x + 2p) v (x + 2p) + \lambda (x + p) v (x + p)$$
$$+ \lambda (x) v (x)$$

$$= (\lambda v) (x + 2p) + (\lambda v) (x + p) + (\lambda v) (x).$$
(5)

Hence, λv is a Tribonacci function with period *p*.

Now assume that λv is a Tribonacci function with period p. For $x \in \mathbb{R}$, we have

$$\lambda (x + p) v (x + 3p) = \lambda (x + 2p) v (x + 3p)$$

$$= \lambda (x + 3p) v (x + 3p) = (\lambda v) (x + 3p)$$

$$= (\lambda v) (x + 2p) + (\lambda v) (x + p) + (\lambda v) (x)$$

$$= \lambda (x + 2p) v (x + 2p) + \lambda (x + p) v (x + p)$$

$$+ \lambda (x) v (x)$$

$$= \lambda (x + p) v (x + 2p) + \lambda (x + p) v (x + p)$$

$$+ \lambda (x + p) v (x)$$

$$= \lambda (x + p) [v (x + 2p) + v (x + p) + v (x)].$$
(6)

For all $x \in \mathbb{R}$, we get v(x + 3p) = v(x + 2p) + v(x + p) + v(x). Hence, v is a Tribonacci function with period p.

We give the proof for the case where v is a Tribonacci function with period p. The case where v is an odd Tribonacci function with period p is similar and left to the reader.

Now we give the limit of the quotient of a Tribonacci function with period *p*.

Theorem 14. Let $p \in \mathbb{N}$ and $\psi : \mathbb{R} \longrightarrow \mathbb{R}$ be a Tribonacci function with period p. Then, the limit of the quotient $\psi(x + p)/\psi(x)$ is β , the root of the equation $x^3 - x^2 - x - 1 = 0$ such that $1 < \beta < 2$.

Proof. Given $x \in \mathbb{R}$, there exists $y \in \mathbb{R}$ and $n \in \mathbb{N}$ such that x = y + np. Let us set $u = \psi(y), v = \psi(y + p)$ and $w = \psi(y + 2p)$. By Theorem 4, we have $\psi(y + np) = T'_n \psi(y + 2p) + T_{n-2} \psi(y + p) + T''_n \psi(y)$ and hence $\psi(y + np) = T'_n w + T_{n-2} v + T''_n u$. Hence,

$$\frac{\psi(x+p)}{\psi(x)} = \frac{\psi(y+(n+1)p)}{\psi(y+np)}$$

$$= \frac{T'_{n+1}\psi(y+2p) + T_{n-1}\psi(y+p) + T''_{n+1}\psi(y)}{T'_n\psi(y+2p) + T_{n-2}\psi(y+p) + T''_n\psi(y)}$$
(7)
$$= \frac{T'_{n+1}w + T_{n-1}v + T''_{n+1}u}{T'_nw + T_{n-2}v + T''_nu}.$$

By Remark 6, we have

$$\frac{\psi(x+p)}{\psi(x)} = \frac{T'_{n+1}w + (T'_{n-1} + T'_n)v + T'_n u}{T'_n w + (T'_{n-2} + T'_{n-1})v + T'_{n-1} u}$$

$$= \frac{T'_n}{T'_{n-1}} \frac{(T'_{n+1}/T'_n)w + (T'_{n-1}/T'_n + 1)v + u}{(T'_n/T'_{n-1})w + (T'_{n-2}/T'_{n-1} + 1)v + u}.$$
(8)

Now, the well-known result that $\lim_{n \to +\infty} (T'_{n+1}/T'_n) = \beta$ yields

$$\lim_{x \to +\infty} \frac{\psi(x+p)}{\psi(x)} = \beta \frac{\beta w + (1/\beta + 1) v + u}{\beta w + (1/\beta + 1) v + u}.$$
 (9)

Hence, we obtain

$$\lim_{x \to +\infty} \frac{\psi(x+p)}{\psi(x)} = \beta.$$
(10)

Data Availability

No data were used to support this study.

Conflicts of Interest

The author declares that he has no conflicts of interest.

Acknowledgments

The author would like to thank the referees for their helpful comments and remarks.

References

- K. T. Atanassov, V. Atanassova, A. G. Shannon, and J. C. Turner, New Visual Perspectives on Fibonacci Numbers, World Scientific Publishing Co., Inc., River Edge, NJ, USA, 2002.
- [2] M. Bidkham and M. Hosseini, "Hyers-Ulam stability of k-Fibonacci functional equation," *International Journal of Nonlin*ear Analysis and Applications, vol. 2, no. 1, pp. 42–49, 2011.
- [3] R. A. Dunlap, *The Golden Ratio and Fibonacci Numbers*, World Scientific Publishing Co., Inc., River Edge, NJ, USA, 1997.
- [4] H. S. Kim and J. Neggers, "Fibonacci mean and golden section mean," Computers & Mathematics with Applications. An International Journal, vol. 56, no. 1, pp. 228–232, 2008.
- [5] S.-M. Jung, "Hyers-Ulam stability of Fibonacci functional equation," *Bulletin of the Iranian Mathematical Society*, vol. 35, no. 2, pp. 217–227, 2009.
- [6] J. S. Han, H. S. Kim, and J. Neggers, "The Fibonacci-norm of a positive integer: observations and conjectures," *International Journal of Number Theory*, vol. 6, no. 2, pp. 371–385, 2010.
- [7] J. S. Han, H. S. Kim, and J. Neggers, "Fibonacci sequences in groupoids," *Advances in Difference Equations*, vol. 2012, article no. 19, 7 pages, 2012.
- [8] J. S. Han, H. S. Kim, and J. Neggers, "On Fibonacci functions with Fibonacci numbers," *Advances in Difference Equations*, vol. 2012, article 126, 2012.
- [9] B. Sroysang, "On Fibonacci functions with period k," Discrete Dynamics in Nature and Society, Art. ID 418123, 4 pages, 2013.
- [10] M. N. Parizi and M. E. Gordji, "On Tribonacci functions and Tribonacci numbers," *International Journal of Mathematics and Computer Science*, vol. 11, no. 1, pp. 23–32, 2016.
- [11] J. F. Rabago, "On second-order linear recurrent functions with period k and proofs to two conjectures of Sroysang," *Hacettepe Journal of Mathematics and Statistics*, vol. 45, no. 2, pp. 429–446, 2016.



Operations Research

International Journal of Mathematics and Mathematical Sciences







Applied Mathematics

Hindawi

Submit your manuscripts at www.hindawi.com



The Scientific World Journal



Journal of Probability and Statistics







International Journal of Engineering Mathematics

Complex Analysis

International Journal of Stochastic Analysis



Advances in Numerical Analysis



Mathematics



in Engineering



Journal of **Function Spaces**



International Journal of **Differential Equations**



Abstract and Applied Analysis



Discrete Dynamics in Nature and Society



Advances in Mathematical Physics